
Test 26 Test 27 Test 28

1) 0 (X2 + 9)(X2 - 9) = 1) C 1) 8
(X2 + 9)(X - 3)(X + 3)

2) E

I 2) 0

2) 0 3) A

I 3) C

(A2 + 4)(A2 - 4) =
4) B

3) E
(A2 + 4)(A + 2)(A - 2)

5) A Each value 01 X musl make at least I 4) A
one term equal to zero.

4) 0
6) C (X + 5)(X + 6) = 0

I 5) 0

X =-5, X=-6

5) B I 6) B
7) A (2X + 3)(X + 2) = 0

X = -3/2, X = -2

6) E 1,000 is not a perfect square I 7) B 48y. x_1_ft_._ = 4ft.
8) E (2X - 3)(X - 2) = 0 1 12)R:'"

X =3/2: X =2

7) 0 (B2 + 100)(82 - 100) =
9) B X2 +9X + 20 = 0 I 8) C 16gat x~ = 64qts.

(82 + 100)(B + 10)(B - 10) (X + 4)(X + 5) = 0 1 l-E¢.
X = -4, X =-5

8) C
10) 0 3(X2 - X - 6) = 0 I 9) A 10 J.bs:' x ~ = 160 oz.

(X - 3)(X + 2) = 0 1 I¥.
X = 3, X =-2

9) B See #8 lor first step

I 10) 0
6,qts: 2 pts. 12 t

11) C X2 - 8X + 15 = 0 --- x--- = ps.
(X - 3)(X - 5) = 0 1 1~

10) 0 2X(X2 + 8X + 12) = 2X(X + 2)(X + 6) X = 3, X =5

12) E 2X2 - 2X - 24 = 0 I 11) B 8000JbS".x ~ = 4 tons

11) E 4X(X2 - 16) = 4X(X + 4)(X - 4) 1 2000M.
2(X2 - X - 12) = a
(X - 4)(X + 3) = 0
X = 4, X =-3

I 80pr. x~ = 5lbs.
12) A 3X(X2 - 4X - 5) = 3X(X - 5)(X + 1) 12) C

1 16m.
13) 0 3X2 + 9X - 12 = a

3(X2 + 3X - 4) = a
13) C 8X(X2 - 9) = 8X(X + 3)(X - 3) (X+4)(X-l)=0

13) 0 6ydS. x~ = 216in.X = -4, X= 1
1 Lya.

14) B 480 .;.60 = 8 hrs, 14) B (X - 5)(X - 5) = 0
X = 5, X = 5 14) C

15) 0 5 x 65 =325 mi. 15) A (X + R)(X + S) = 0
X =-R, X =-S 15) E

Test 29

1) B

2) C

3) C

4) 8

5) E

2y~ x~ X~=18fI.2
1 1 yEt:" 1 }I€Y.'

6) 0

~x~x~x~=
1 1~ 1,.vd:' 1~

16211.3

7) C
2"~ 3Y. 3K
~x---x---x

1 1¥. 1~

12 in. 12 in-_. x .1Y. 1Y. = 10,368 in.2

8) B

87,120Jr.!" x 1 acre = 2 acres
1 43,560~

9) C

4ft. x4ft. x16 II. =25611.3 =2cords

10) E

6.m¥- 100 em 100 em 100 em
--- x --- x --- x --- =

1 1% 1/11'" 1ft"

6,000,000 cm3

11) B

12) C

13) A

1m(.2 5280 It. 5280 It.
---x--- x---=1 1.Jllt' 1"mr.

27,878,400 f\.2 -{
CD
S!l.
(J)
o
~

21.5-ft5' 1 yd. 1 yd. 1 yd. o·
---x---x---x---= :::J

1 3X 3.JY. 3)V ~
en

14) 0

15) B

7.96 yd.3
I\)
(0


